SHING LING. o M
®§%H$l£)ﬂ%%ém% P D g

SINCE 1989  INDUSTRIAL SEWING MACHINE AEFHoraam  TAWAN

VG-888A-N600-TF Series
B R =4 B mah ek (M 215 ))
3-needle 5-thread Cylinder-bed Interlock Stitch
Machine with Left-hand Knife Fabric Trimmer

AT

Spare Parts Book

B BRI A ke Bt
). SHING LING SEWNG MACHINE CO, LD, K23ty

SINCE 1989 Celsogom 2008/CNS 12681 [] kil





























































































10

15—



SPREADER DRIVING MECHANISM

Ref.

No.
1
2
3
4
5
6
7
8
9

10
11
12
13
14
15
16
17
18
19
20
21
22
23
24
25
20
27
28

Parts

No.

M1001
SV250
M1003
M1004
MO0612
M1006
GB24
M1008
M1009-1

M1012
MO0604
M1014
M1015-1
M1016
M1017

VI22

M1021-1
SV221
SV241
M1024

VI21
M1027
SF228

Description

Eccentric

Screw (M5 -0.8x%x5)
Connecting Rod
Adjusting Lever

Screw (M6 -0.75 x 14)
Adjusting Lever Pin
Washer

Nut (SM 15/64 - 28)
Driving Shaft

Rocking Arm

Screw (M6 -0.75%5)
Collar (10x17x 8 mm )
Spreader Bar

Felt

01l Wick

Collar (10 x 18 x Tmm )

Spreader Holder
Screw (M4 -0.7%x8)
Screw (M4 - 0.7 x 14)
Spreader

Bushing Ring
Collor (8 mm x 16 mm x 8 mm )
Screw (M4 -0.7x4)

g

e Lot
FEMR R AT
B Ew S
Ealio]

R
FEhih

i
i

LU
it

S i
Nua @iy
ISR

PAERIVA it

AeamaRiREn

HeafidRaS R o)

i
TEAIER

e\ e e

—_

VG-888A-N600-TF Series


















TOP FEED MECHANISM(2)

Ref.

[ 2
,_‘ogooo\lowcn.hool\al—\‘_o

O I R S e N el vl
Wk, O ©O©Oom=~NOo o~ wiN

N
S

g o0 B BB B D DB DB D OWOOWWWoWWwwWwwWwMNNDDNDDNDDN
N P © 00 NJNOoO AN PEFP O OO OB WON P O W 0 N o

[N
N

Parts
No. Description

M1201 Coupling

MO0604 Screw (M6-0.75x5)
M1203 Screw (M6-0.75x 8)
M1204 Roller Bearing

M1205 Collor (8 mm x 16 mm x 8 mm )
M1207 Connecting Rod

M1208 Adjusting Lever

M1209 Screw (M6 -0.75x 12)
M1210 Adjusting Lever Pin

VJ25 Washer

NV12 Nut (M5)
M1213-1  Driving Shaft

H1132 Retaining Ring
M1215-1  Thrust Washer

M1216 Oil Wick

M1218 Head Cover Seal Plug
M1219 Blacket Complete

M1220 Screw (M6 -1x35)
M1221 O Ring
M1223-1 Rear Cover

M1224 O Ring
M1224-1 Head Cover Gasket

SV222 Screw (M4 -0.7 x12)
M1227 Differential Lever

M1228 Differential Slider

MO0612 Screw (M6 -0.75 x 14)
M1230 Connecting Rod Link Pin

16-28 Retaining Ring

M1232 Connecting Rod Slider
M1233 Connecting Rod

SF228 Screw (M4 -0.7x4)
M1235 Control Link Pin

M1236 Feed Shaft Lever
M1239-1 Driving Shaft

M1240 Oil Wick

M1118 Felt

M1242 Collor (8 mm x 16 mm x 8 mm )
M1244 Rocker Arm Top Feed
M1246 Connecting Rod

M1248 Connecting Rod Link Pin
M1249 Oil Wick

M1251 Main Feed Lever

M1252 Knock Pin

a >
PR PPRPPRPPRPORRERNPR,PRPRR RO EREDN PN R PP PP RPN RE R [EE SEN O N QN #3 3
=

12

[EEN

N = N DN

VG-888A-N600-TF Series






TOP FEED MECHANISM(3)

Ref. Parts

No. No. Description
1 M1301-1 Crankshaft
2 M1302 Thrust Washer
3 M1303 Collor (8 mm x 16 mm x 8 mm )
4 SF241 Screw (M6 - 1.0 x 10)
5 M1305 Bracket
6 M1306 Control Bracket Spring
7 M1307 Link Lever
8 SV224 Screw (M4 -0.7x8)
9 MO0213 Washer
10 NE27 Nut
11 M1311 Feed Control Lever
12 M1312 Feed Graduations
13
14 M1314 Control Lever Stop
15
16 WEF04-1 Washer
17 M1317 Stitch Bength Screw
18 M1318 Spring
19 16-28 Retaining Ring
20 M1320 Differential Feed Nut
21 WE04 Washer
22
23 M1323 Screw (M4 -0.7%x6.3)

Lix 3

T H % W

13

() 1 3/ m %6 A
1EHER A

TENIHR

[ E R

TR

AR

KORFEH]

RIS

TR

SHEE RT 2R

PEHIFRIESE

kA
PTEEIRAR
G
ity
ZEENIRNE
#h

>
—

VG-888A-N600-TF Series


















FEED DRIVING CONTROL MECHANISM

O 00 3 O W »A‘E; ;E
=

—_ = =
o = O

13
14
15
16
17
18
19
20
21
)
23
24
25
26
27
28
29
30
31
3
33
34
35
36
37
38
39
40
41
)
43
44
45
46
47
48
49
50

Parts

No.

VKO1
SF240
VKO3
SV227
VK05
VK06
VK07
F1108
VK10
VK11-1
VK12
VK13
VK14-1
VK15
VIO8
SV221
VK18
SF226
VK20
VK21
VK22
VK23
VK24
SV252
F1125
RVI8
VK28
VK29
VK30
VK31-1
VK32
VK33
VK34-1
VK35
SV250
VK37
VK38-1
VK39
SV233
VK41
VK42
VK43-1
VK44
SV267
SV259
SV271
VK48
RF21
SV232
17-22

Description

Feed Lift Lever

Screw (M6-1.0%x6)
Connecting Rod Pin
Screw (M4-0.7%x5)
Feed Lift Connecting Rod
Retaining Ring

Roller Bearing

Feed Eccentric

Feed Connecting Rod
Connecting Rod Pin
Lever Link (Long)
Lever Link ( Short)
Connecting Rod Link Pin
Lever Link Pin
Washer

Screw (M4 -0.7%x8)
Feed Shaft Lever
Screw (M4 -0.7x12)
Control Bracket
Connecting Rod Guide
Control Bracket Spring
Control Link Pin
Spring Holding Pin
Screw (M5 -0.8%x10)
Control Lever Shaft Bushing
O Ring

Oil Seal

Control Lever Shaft
Control Link

Control Link Holder
Knock Pin

Adjusting Screw
Bushing

Adjusting Knob

Screw (M5-0.8%x5)
Stitch Length Indicator
Feed Control Lever
Feed Graduations
Screw (M4 -0.7x14)
Spacer

Control Lever Stop
Conical Spring Washer
Nut

Screw (M6-1,M4.5-0.5)
Screw (M5-0.8%x6)
Screw (M6-1.0%x6)
Washer

O Ring

Screw (M4 - 0.7 x 10)
Screw (M3 -0.5%x4)

Z H £ B

PR E TR
4%

AR

B bR AR
s
TR
Dokt EAR LR
ok E R
AR
IR (&)
FEERAR (J)
AR
PRI DY
#H

HELEHR AT
R4
=R
L
R
PEf AR
SE M
PR E
ORI
SHES

K
AR

5 [BhRIE
M54
(DEELE
e
SRR ST
1244

BHEE T [EIHR
BRI
$HIE R ~FZIREAR
1244

i

PEHIRR I
ST A
HZIE

1244

#H

OFL IR
1244

e T O G B e e e N I NG I N I e S e NS I e e e e e e e S T e e e S e S e T e e e e e e = = NS I NG TSN 'O RS, =

VG-888A-N600-TF Series














































































TOP THREAD TRIMMER (PNEUMATIC TYPE) (OPTIONAL)

Ref.

No.
1
2
3
4
5
6
7
8
9

10
11
12
13
14
15
16
17
18
19
20
21
22
23
24
25
26
27
28
29
30
31
32

Parts

No.

18-1
18-2
18-3
18-4
18-5
18-6
18-7
18-8

M2510

WEO04
18-15-1

18-17
18-18
18-19
18-20
18-21
18-22
18-23-1
18-24
18-25
18-26
18-27
M2128
M2129-1
SF225
18-31
FA24

Description

Top Trimmer Air Cylinder Complete Set
Fixed Trimmer Knife Holder

Pneumatic Regulator

Top Trimmer Air Cylinder

Nut

Air Cylinder Bracket

Nut

Movable Trimming Knife Base

Complete Set Pneumatic Top Trimmer

Washer
Screw

Movable Trimming Knife
Fixed Trimming Knife
Screw

Screw

Screw

Clamp Spring

Knife Press Adjusting Spring
Washer

Adjusting Screw

Screw

Adjusting Nut

Trimming Movement Base
Trimming Fixed Bracket
Screw (M 4 -0.7x10)
Screw

Washer

T H % W

EVITIRGRLAH
SREEA V) 5
s it
EVITIREL
e

SRGLIERE

HERIE

JE ]

EVITIRERSH

A

EVNEE]
EVIEET]
HEERF
PSSl
HEH]

A TR AR

AR EIRE

Ji e EEhEE A
EVIIEESE
kA

RO DO DD = = = = e e e = DN DN D =

VG-888A-N600-TF Series































































X Table Top Installation

Jojeiad()

v

0v¢ 866
%@ =
o - - - - -
o |B - \‘/%
Lo-V
|\ 05 b 1 05 6
08 AJUO IowmTI} pealy] Jopun § doj UjIM oUIUoBW 104
975
Gl >
-
(g8 ) HE[4EIN LETI
(BuTmmLi] pERIyL) So1Ie§ H)



6l

¢tay

002 ‘1

072 872
22 Jojerad()
2 v/
N
4 -
D~
2 > (7)) / 1:91898
8y ! /! (T )ww: 31Uy
0e Loy (Yt W % )Z004:0N 210R]
IN =
7 f q
e N [
- %wm - \;3 - ~ __h
= N N | i
03 _ 0S¢ M¥niEE
A di
wwmmuw///, ﬁco\wwwwmmwlcmoMSP Jopun § dol U}IM SUIYDRUW IO
G 6o-¢ |
u% 7 o
D |
| ¢
wmvuwﬂ/ v q |
66 | 0L]0a1] 0L | Surssuepm
g w GZee |G 991661 ] VG | TPRIH
- G286 | S9[0ST] 09 | MSqnsmA
\ Gz 66 [ G 99| 6G1 | LG | druoseueq
Wk W —  V888-9A a D [d V| PPN

3uUT1IN) 91qe], ¥§88-HA PIBPUBLS IO4]




6l

¢+av

0021
&wv 0ve 866 Jojerad()
< v
\
\ (e
= ([4)¥ / 1:91808
e G —— (TygHuuiyrug
o | (%% ¥ % )£004:0N 298]
0¢ (B£%)B888-9A " ToPON
0% o
| e s
O ,
ﬂu | _
i , |
o V@w o \0% ~ - - \/{f
7 TR | 4 X
//% LoV
059 Mg 8
Q?%//v/, 08 \::oﬁfﬂ peaayl Jopun § dol UiIm QUIyORW JO4
G 6p¢ -
% i o
D |
| ¢
njﬂ v q |
GL | 0 ag 0L]0z1 | 0L | Suis Suem
- CZ 66 |G 99 6CL ]| ¥G | MoeNH
\ G 26 | ©9]0G1]| 09 | TSIAnSHA
ME 2 Z009N Gz €6 699|661 | LG | Oduoseueqd
d J 141V TOeIN

IoWnTL], OTIqR] SJ TUY PURY-}J







TAIWAN

accor- SHING LING. @
& zamzEmuhik <P @

2 EXCELLENCE
SINCE 1989 INDUSTRIAL SEWING MACHINE AETHBI44B
SL-703-GX-452/460/DS/PLA/VD SL-2700-AST/EST SL-2800-356/SM
4-needle 6-thread feed-of-the-arm Interlock Flatseaming Feed-up-the-arm Interlock Machine with Feed-up-the-arm Interlock Machine with
Machine with dual differential feed ratio regulator Compact Servo Motor and Thread Trimmer

i Compact Servo Motor and Thread Trimmer
FUTRUIE U ER O e M2 1 D) R =S TR T AR R = it T HR M T A AR bR

VG-999ES-AST-TF-DS VG-888S-TF-AST

a ; . VG-888A-TF/AST

Extremely-Small Cylinder-bed Interlock Small Cylinder-bed Interlock Machine Top Feeder for 3-needle 5-thread

Machine with Thread Trimmer and TopdFeed with Thread Trimmer and Top Feeder . g . i

T = §1 TR TS HRARR 31 T R amim ey
(B iRl - i

(Bff -3 )

VG-999S-N700-AST-TF-DS VG-888A-N600-TF/AST

Small Cylinder-bed Interlock Machine with Interlock Machine with Left-hand Knife SL-17908
Left-hand Knife and Top Feeder for Hemming and Thread Trimmer for Hemming Computer-controlled High-speed
PR 2R = G R N T i R R (BT 288 7)) TR RYRT A4 7) W R b Lockstitch Buttonholing Machi

, 8 AR

il

VG-999-SB-AST/EST-DS VG-999-R500-AST-RP VG-999-356/EST/DS/ZBR

High-speed Short Cylinder-bed Interlock Interlock Machine with Right-hand Knife and Dual Colors Decorative Stitches Interlock
Machine with Thread Trimmer Rear Puller for Elastic Waistband Attaching Machine with Top and Under Thread Trimmer
7R 0 == S T M T T G R P T = B LRI A s 7 W T i R B PR B = S TR AR TR O




	未命名
	空白頁面



